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IEHZ |FRk 29 F£E HEBRBEFERERTEEE ( OEZE®H) FHERHS TR O
BTiE6-3165 1R HiGRTINS [ET:E65 7] IERXRS EREER
TERX-TIE-FE5 -5 I B {1 = (gir@) #=(SME) =14 BE

ERHBER = 1

BEHRLTIT = 1

1T = ‘
EH () m3

(275.4) 316.5 275.4 + 41.1

BERELTT = 1
HBELGGRAD m3

36.3
BRIER m3

17.5 17.50 x 1.2/0.95= 22

m3

KRR 37.3

HLTANET = 1
EBiaET m3

313.5

KHLI = 1

HEEIE m2 156. 6
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BT:E6-316 547 HiRETIAE [RTE6 5 7] IERXS HERHER
TERS-TFE-FE5 -5 R B = (F1E) HE(SHE) HEEH HE
HKEEYMT BHIRAE 400 x 400 m
92.2
BB aEAE 500 x 400 m
86.0
WA B R AECRIE 500 x 400 m

6.0
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T4 FEK 29 £E HEERERFERERTEEE ( OEZER) FHERHR B W E
BTE6-3165 4% HERETINE [ETE6E 7] IERXS ERHE
TERX-TFE-FE5 -5 I BAfsL = (BTE) HE(SME) BEERE HE
Sk ¥y G-B800-L800-H700 R 2
SkpizE JL—Fo5& " 2
800 T-25
BET
AIREHET
®ET BEZFAMET XA V20F m2
t=4cm 436.9
RET EftéEE BEBRRMET7XIV20F m2
BRI T HEEEISE t=4cm 34.8 69.5x0.5=34. 8m
LTERET PERERA m2
M40 t=14cm 436.9
TRERET BEISYIY—F m2
RC-40 t=35cm 436.9
CHETEXEREAIL EX-60REIZE ML L m2
436.9




TEZ FR 29 &F HEBEARBEFERERTEEE ( ORIZEE) FEERHY E TR e
BT:E6-316 547 HiRETIAE [RTE6 5 7] IERXS HERHER
TERS-TFE-FE5 -5 R ==Fiv] = (F1E) HE(SHE) HEEH HE
BEMEBET = 1
EEmEELT = 1
oo —rEEYEIEL ZXRER m3
25.12
VO —EEYMEIEL EHaroU—Fk m3
3.00
AsEhdE R ERIE L T AT 7L FEEERR m2
t=10cmLLF 478.3 443.5+ 34.8
SRR U1 B T AT 7IL FEERR m
t=15cmLLF 78.9
EfRLE T = 1
OB AR ZRES m3
25.12




IE% T 29 §&F HEEXREFERERNTEEE ( OEZER) BERH BRI
BTE6-3165 1R HiATIAE [BTE6S#%) IZEXS EBRBE
IERX5-THE-FE5 - #5 g Bifs = (FTE) HE(SE) W2 =
BN |EHaAVH)—k m3
3.00 &t 28.12
RIE R FAIZ7ILE m3

478. 3 x 0.04=

19.1

19.1




t & # B 2
T TR o) B om R X [ 2
& = (m2) E (m2) ER (m3) E
RIED KIEQ T RED KEQ m  KEO KED T
NO. + 5.20 0.2 0.4 3.53
NO. + 0.00 0.2 0.4 3.53  0.20 0.40 3.53 14.8 3.0 5.9 52.2
NO. + 0.00 0.4 0.4 3.64 0.30 0.40 3.59 20.0 6.0 8.0 11.8
NO. + 0.00 0.6 0.4 3.72  0.50 0.40 3.68 20.0 10.0 8.0 13.6
NO. + 0.00 0.6 0.4 3.82 0.60 0.40 3.77 20.0 12.0 8.0 15.4
NO. + 18.40 0.5 0.4 3.88  0.55 0.40 3.85 18.4 10.1 1.4 70.8
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
INET 93.2 41.1 37.3 343.8




oK B & W I E E A OE

Al =
% i pS #H E &
AT =] E
B HAERRE
400 x 400 A& NO. O+ 6.2 NO. 4+ 18.4 92.2

&&t 92.2 m




HE X #% & % T & E f =
s &
£ R p37) & # = %
A =] ES
BEAEME 500400 £ NO. 0+ 6.4 NO. 4+ 4.4 78.0 m
£ N0, 4+ 10.4 NO. 4+ 18.4 8.0 m
it 86.0 m
B A EIE
(&5 ) 500x400 £ NO. 4+ 4.4 NO. 4+ 10.4 6.0 m
it 6.0 m




K # &2 9% I &£ K A &
A A
£ I % B
i = =
B A AR
(#&bT ) TJL—F0% NO. 4+ 4.4 NO. 4+ 10.4 3.0 #%

BHRAERAES

BHARAES




oK B & W I E E A OE

Al =1
£ 1 b3} % # = s
& 8 S
BHRAERAES
JL—FooE
BRAEREZ  400(L=1.0m)
B/ NO. 0+ 6.2 NO. 4+ 18.4 9 |
JL—FooE
BRAEREZ  500(L=1.0m) ZZ NO. O+ 6.4 NO. 4+ 4.4 1 %
ZZ NO. 4+ 10.4 NO. 4+ 18.4 1 &

t 8




# K B

W I & K A F

Al =1
£ L1 RO £ s &
8
aVyy—+E
BHAEAES 400
NO. O+ 6.2 NO. 18.4 15
&&t 75 &
aVyy—+E
BHAEAES 500 NO. O+ 6.4 NO. 4.4 64
NO. 4+ 10.4 NO. 18.4 6
&&t 70 &




B oK B & W I E K A
]
& W P £ 1A
B =}
G-B800-L800
£k -H700 £ N0. 0+ 59 1
£ NO. 0+ 5.7 1
2 &P
ok
JL—FJ&
800
T-25 £ N0. 0+ 59 1
£ NO. 0+ 5.7 1
2 M




EKk# H E
ERER,
£ 7 it = = # =
- B700 - L700 - H800 b1 = 150
avy)y—+tr =(1.00x 1.00 - 0.70 x0.70) x 0.80
+1.00 x 1.00 x 0.15 - 0.02 = 0.54 0.54 m3
BB =1.00 x 0.95 x 4
+0.70 x 0.95 x 4 = 6. 46 6.5 m2
EHEM =1.10 x 1.10 = 1. 21 1.2 m2
- B800 - L800 - H700 b1 = 150
avy)y—+tr =(1.10x 1.10 - 0.80 x0.80) x 0.70
+1.10 x 1.10 x 0.15 - 0.02 = 0.56 0.56 m3
BB =1.10 x 0.85 x 4
+0.80 x 0.85 x 4 = 6. 46 6.5 m2
EHEM =1.20 x 1.20 = 1.44 1.4 m2




MR I O B O£
£ 73 B = = # =
AIFShET
KBTI A =XREHET mEEFEELY = 436.9 436.9 m2
FERET A = 436.9 - = 436.9 436.9 m2
AIFeHET R
TERET A =rE@EEILY = 436.9 436.9 m2
CAETFERAAIL A =LEERET LY = 436.9 436.9 m2
HEARGET
=ET A =EARSET @mREAEELY = 0.0
TERET A =XREI&Y = 0.0
HEmEEIF B B A E2{81;E400%400 L= 92.2« 0.78=T71.9
B B A E2{81;E500%400 L= 86.0. 0.89= 76.5
B B S EMEEL00x40048 W L= 6.0. 0.89= 5.3
£ 7k #1G-B800-L800-H700 1.2« 1.2« 2H 2.9

&t 156.6 m




REWET - - A
A =R BN WO FgfEm X B kR @ 0 #E 1

NO. O + BP5. 20 @ CADEt:AI 4.9
NO. 0 + 6.40 6. 40 4.59 —
NO. 1 + 0.00 20. 00 4.53 4. 56 13. 60 62.0
NO. 2 + 0.00 40. 00 4.64 4.59 20. 00 91.8
NO. 3 + 0.00 60. 00 4.72 4. 68 20. 00 93.6
NO. 4 + 0.00 80. 00 4.82 4.77 20. 00 95.4
NO. 4 + 18.40 98. 40 4.88 4.85 18. 40 89.2

INET 436.9




® & W B = I & & £

EET
2 it % e % B
R E
TL—F 5%

200 N = = 0 0%
FL—F 5%
300 (L=0. 5m) N = = 0 0%
TL—F 5%

350 N = 1 = 1 18
TL—F 5%

400 N = + = 0 0 ¥
TL—F 5%

500 N = 4 + 3 + 1 + + = 8 8




B & W WM = I § g 2
XY
% o) &t "5 E # =1
“RE R
Ea—LE V = X 6.0 = 0.00
(®350)
Ea—LE L= + = 00
(®400)
V =0.116x 0.0 = 0.00
BF I -300 L = + + = 0.0
V =0.029x 0.0 = 0.00
BF I -400 L =920 + + + + = 92.0
V =0.048x 92.0 = 442
BF II-800 L = = 0.0
V =0.130x 0.0 = 0.00
PU3-45 L =659+ 9.0 + + = 14.9
V =0.219x 74.9 = 16.40
B HERIE
300 L = + = 0.0
V =0.149x 0.0 = 0.00
B HERIE
500 L =90+ 6.0 + 3.0 + = 18.0
V =0.239x 18.0 = 430
ast 25.12 25.12 m3




B E YW B = I it g ==
IEE=)
£ L1 Hi g = # =
AR
FE BT {A7E300 V =0.165x = 0.00
FE BT {R17E400 V =0.159 x = 0.00
ASE K ¥t V =0.330 = 0.330
B& 7K #t V = = 0.000
aVvy)—kk L = 7.0 + + 3.0 +17.0+ 5.0 + 8.0 +
6.0 + + + +
= 46.0
V =0.058x 46.0 = 2.67
AR L= + = 0.0
V =0.150x 0.0 = 0.00
BER 1k L= + = 0.0
V =0.100x 0.0 = 0.00
CER#R V =0.230 x = 0
B L= + = 0.0
V =0.986x 0.0 = 0
&t 3.00 3.00 m3




B E YW B = I E - -
1XHY
£ {1 Hi =1 = # =
SHEE R t=10cmEL T
AsEHZERRUIBT A 4.8+ 4.6+ 69.5 = 78.9 78.9m
t=4cm




B & Y B £ I E g g
1XHY
% 5 it = = 4 =
EikAIE T
ZRER V =Zxk&RKEY = 25.12 25.1m3
;AR
aVvol)—k V =EfRLY = 3.00 3.0 m3
AsEEERR V = 443.5 x 0.04 = 17.74 17.7 m3
EEIE L =78.9 = 78.90 78.9 m
JL—F 0%
200 W = 0 x 14.4 kg/¥& = 0.0
JL—F 5%
300 W = 0 x13.9 kg/#& = 0.0
JL—F 5%
350 W = 1 x 33.5 kg/#& = 33.5
JL—F 5%
400 W = 0 x 40.8 kg/#& = 0.0
JL—F 5%
500 W = 8 x51.1 kg/#& = 408. 8
&t 442.3
i #4 W = 442. 3 / 1000 = 0.442 0.442 t




T hiR HRIR L m O Et &
Al = BANEERE M O o EHEEN K M R i wm B
As  t=4cm
NO. 0+ 5.20 5.20 4.8 — AR
NO. 1+ 0.00 20. 00 4.8 4.80 14.8 1.0
NO. 2+ 0.00 40. 00 4.7 4.75 20.0 95.0
NO. 3+ 0.00 60. 00 4.8 4.75 20.0 95.0
NO. 4 + 0.00 80. 00 4.8 4.80 20.0 96.0
NO. 4 + 18.40 98. 40 4.6 4.70 18.4 86.5
INET 443.5
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